normalized X?

< X2/ ndf >

< X2/ ndf >

<o pTIpT > (Yo)

Entries
Mean

0 2 4 6 8 10 12 14 16 18 20

XZ

[ normalized x? probability |

Ratio

il
Il
Ihlln )
.10

m=m== DQM_original_step2_tthar-phasel-newgeom

mmemm DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
wmm—= DQM_pixelCPETemplateCutChiSquare5_step2_tthar-phasel-newgeom

Ul

I

(%]

N

i

T[T T T [ TT T [T T[T [ TTTT[TTTT
z
.3
%

<op./p. > )

Ratio

< X2/ ndf >

5

S

4
3
2

!
0|

I
=

0 1 2 3
TP n (PCA to beamline)

©
T




	Contents
	Page 1


